HEABAENEREAN AR Z B K HE

M= BEHEERERSZE

b2 AT WA A 2 5 S S HE A AT AN E B W LA S AR A BB AL EE
SRR FOAT Y AL TE T A B B AL TR A

—. TEEX

1. #4755 % X

— R B k=1, 2, 3

:/&*57]3?&};)%%% Ik = Nk—l+1’Nk—l+2’“.’Nk

#Hep: Ny=0;N, =6;N,=12;N, =18

2. ARk E

Z. iR EAEK

Z',. i RS EHERE

Vio: i ANH R & KR — R %

Vi &AM %K — Rk

X : #iNbEE | =R %

il -
Ul. gitrmRE |, 51— RistrE
3. MEZEEX

3
a4 BKT—GIERE, Y, =1
k=1

Ny

B FNT—RIEHFERE, ) B =1k=123

N
= W E
1. ZRaEBrHE
TERUZN T HRZ BEEETFN, TERAL LW ERIgr i E s
BERFNER, MBI M.

236



HEABAENEREAN AR Z B K HE

A RATATE A — R EHAT L RN — A, 58 =R 8

Iy
X, =o-x100 | =1,2,+,18 =12,
FHoe
Uk = max{U "

2. —RIPH
1z i 45 B AR I H — R AR K.

Ny

Vi = Z Xilkxﬁlk k=12,3 i1=1,2,"1
I =Np 1 +1
Yik:y—iK.XlOO k=123 =121
m_ax{y it
SZAEEYTHE

iz GF A AR T E A8 8.
3

2= yuxa, =121
1

z=—21 %100 =121
max{z }

= BKEHTE

ARBZNBREAFGXEZHKEHRZEF BN AL ER —FNK
BETImKRERMEN. WEFER: WE—FHEFE (544 100), iHH
LA G R TR KIERNERERGES, BTEL &SR SFHEKRAE
I

DA DA T+1 438 K e Hot 8 o041

(1) R KIEHIUH

LT 4 — RAGHE B4, I E T+ R KB4

\ Ul (T +1)

AR TIT N,

(2) —RHKIFHIUH

i G AR T E — R K8 H.

x100 I, =12,---10,12,---18 i=12,-"1

237



HEABAENEREAN AR Z B K HE

Ny
YET+)= D B xXF(T+1) k=123 i=12..1
=Ny _4+1
Ny
g FNF =R BEENE, Y f =1k=123
=N, +1

(3) ZelKEHITH
i G e AR B Z e KA.

3
Z(T+D) =D xY T+) i=12,..,1
k=1

3
a: KT BHERE, Y -1
k=1

238



